
 

 

Answer on question #59593 -Economics - Macroeconomics 

National Income Accounts. 

GNP = 8,800. T = 2,000. C = 5,000. G = 2,200. 

X = 500. M = 900. GDP = 8,600. Dep. = 500. 

Determine Government Savings. 

 

Solution 

The government saving is defined as follows: 

𝑆𝑔 =  𝑇 − 𝐺 

Where  

G – Government Spending 

T - Taxation 

 
𝑆𝑔 = 2,000 − 2,200 = −200 

The government saving is minus 200 because it is spending more than is collecting in tax.  

 
Answer 
The government spending equals minus 200. 

 


